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Answer ALL questio

PARTA (10 %2 = 20 warks)

i e T A R S e
2 Defiue for fctor and peak factr
5. What i transint renponse
4. D teomaformud meterk of an RLC seros sireui
i P88 powes dalivaral o i 10 i s o 0 e el ot s
10 cim
TRl

A0 1i0volts g;.s ohn
7 vdesees

Figure s

G What are bl poer frequencics?
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In mesh current analysis method, how
determined?

8 State Narton's thearem
9. State Millun's theorem
Draw & three phase susply system conneeted to s star conneeted losd.
PARTB (5 16 = 50 marks)

i the cireuit shown

10 i@ Determine the paver delivered by the vollage sour
0 are 1z

10 ohm, Sohm  ohm

Figure 11a

or

) Determine the average ard RMS values of the sinusoidal voltage
waveor.

12 G Derive the expression for current transient. response of R serios circuit
cornected to s step source.

o

) The source in the cireuit of figure 120 is wnit step, System is at rost for
£0. Find the soltage responso acrosh the eapacitar for t>0)

v} 12 ohm

T'””“Wﬂn

Figure 12

e Das17



[image: image3.jpg]FERNAY

o

A vesistance |

00 ohim) and a capacitor (X = - § 250 shm are conrecied
i series. 10 current of 093 15 flawizyg i the cizeui. fizd the inspedance,
power fuctor, supply voltage, valtage across v e and veltage acrass
cepacitance. Also caleulate Lie apparent paver, aclive power and reactive

o

I an RLE series circurs, R = 100 olu, L = 0.5 H and € = 0.1 miero farad
Find the resanant frequencs, bangwideh, half pawer frequencics and

auabty factor

Determine the woltage scross the eurrent source using Mesi curront.
analysis method

5 ohw 2 ohx

e

Figure 1a

or

Fr the circsit of figure 14h, wse superpasition heorem ta compute the
current I through the 16 cam esistor.

25 o 50 ot
AT A
| {
! 8

1)

! |

16 chn

Figure 14

3 2517




[image: image4.jpg]fal Desermine the Thevemin's equivalent ercu for the setwork shown in

e 15

Bt

10 ohm ¥ ohe

a I8

Figare 15

or

1) A bataneed three phase sesters with supply vollage of 230V is corre

o

W & balanced star connected load of 1033 ohm. Caleulate Ui shise
enrrent, line carrent, real, reaelive and apparent power consusned
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